Operaciones combinadas con enteros

El Completa la siguiente tabla:

L2 3 | | | [ | |
L2 | -3 | | | [ | |
I | | [ | |
I A | | [ | |
L2 [ -w | | | I | |

H Completa la siguiente tabla:

o4 2| [ [ | [ |

7 3| [ [ | [ |

I [ [ | [ |

L [ [ | [ |
Calcula:

a)3-(-2)+7=

b) 6 —5-(—6+4)=

c) 6—5)-(—6+4)=

d (—=1)-(9—-12+4)=

e) —(9—-12+4)=

f) (=2)-(=3)+(-4) - (=5) =

g) 24:(—8) + (-5 -3 =

h) (=3)*-(=2)"=

i) (=1 (=51 : (=57 =

j) (—6)- 4+ (—25):5+ (—8)?>— (4° =
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b) 16
c) —2
d) —1
e) —1
f) 26
g) —18
h) 144





